| total events O=anyInput 8=anyAccept |

10*

10

0

—{Mean

Entries 7023

1.717
JRMS 2,565

| L2 time used per input event

Entries 162914
Mean 70.38

RMS 11.12

..............................................................

1 2 3

Input: 1=btow, 2=etaw

|rauaofinputevents

y: rate (Hz)

4 5 6 7 8 9
Accept: 4=oneJet, 5=diJet, 6=rnd

50 100 150 200 250 300 350 400
x: time (CPU kTics)

Entries 5627

w
1

w
o

N
1

N
o

15

10

Mean 116.4

o A :---{RMS 50.9

.................................................................................

.................................................................................

500 1000 1500 2000 2500
X: time in this run (seconds)

4ccpet rate blue:monoJet, red:diJet, black:randon1

y: rate (Hz)

= - - -

Entries 356
Mean 110.5
RMS 55.79

0 500 1000 1500 2000

2500

X: time in this run (seconds)




BTOW tower, E(>2.0 GeV (input)

soft=1+

ok N WA O O ® o

BTOW to 0 GeV (input)

soft=801+ : =]
=1

800

BTOW (o 0 GeV (inpu)

o0
Xx: BTOW softiD.

o
x: BTOW softiD.

soft=3201+:

32 o 500

o
Xx: BTOW softiD.

BTOW (o 0 GeV (inpu)

® ©

w s o oo~

soft=4001+:

Q0

800
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

crate=2

x: i=chan+128*crate

crate=3

x: i=chan+128*crate

crate=4

x: i=chan+128*crate

crate=b

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input) Entries 1993 | |erow entes 122

BTOW-East .B TOW-West

120rm o= R 5% 2
e = e ol

o [a=R = ; ; | 5

l - : =

GO0 i e W W 10 so 10
=

=

o

>30 0 i

30 35 0 2 4 6 8 10 12
X: eta bin, [-1,+1]

x: 12 - Endcap etaBin ,[+1,+2]



Et Jeti-Jet2 (input) | [Envies 56271 [diJetl eta-phi (

3 120 5 5 5 5 5 500 5
o L ; ; ; ; : g
o r ; ; ; ; 3
N 10— Preeesees e SERRRREISRREEEE SRR L
S T : : ' ' 400 £
ol 5
6
4
2 .............
0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input [Envies 5627]  [dfjJet2 eta-phi (input [Entries 5627
| e phil-phi2 (input) | s | T bhi (inp )|BTOW—West Endcap
5 5 X —
@]
g 2 —
o 40 b 30
Jooopmii [ L5
= 35 T
o : : z 25
5 20 AR S 30 20—
: : - 20
15 IR e 15
: : 20 15
10 R 15 10
; 10
] IR 5
0 0
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



Jetl Et (input)

Entries 5627

10

102

10

Mean 5.217

RMS  2.033

30 40 50 60
x: Et (GeV)

Jet2 Et (input)

Entries 5627

10

102

10

Mean 2.263
RMS 1.277

| Entries 5627

Mean 32.2

RMS  13.53

0 20 40 60

80 100 120 140 160 180 200
x: # of towers/event

# ETOW towers>ped+8 (input)

| Entries 5627

240

220
200
180
160
140
120
100

Mean 18.14
RMS  11.22

0 10 20 30

H i :
40 50 60 70 80 90 100
x: # of towers/event

20

30

40

50 60
x: Et (GeV)

Entries 5627

102

10 =

1Mean 18
RMS

10

20

30

40

50 60
x: Et (GeV)



356

one-Jet Et (accepted)| Entries 356 |one-Jet eta-phi (accepted) Entries
BTOW-East[ DYV
5 5 : ;
(8]
(]
%]
l OB .- -, . USSR NN
=
o
N = = e
|
0 10 20 40 50 60 0 2 4 6 8 10 12 14
X: jet Et (GeV) x: iEta [-1,+2]
one-Jet phi (accepted)| Entries 356 one-Jet eta (accepted)| Entries

25

0 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30
x: iPhi ~sector

45

40

35

30

25

20

15

10

.............

356

....................................................................................

........................................................

.............................................................................

2 4

6 8 10 12 14
x: iEta [-1,+2]




Et of Jetl vs. Jet2 (accepted Entries 365 diJetl eta-phi (accepted Entries 365
| ( pted), | 5 p_ ( pD.Jl’\/-West‘ Endcap
> 12 . . . _ 30 o . .
) - o :
O 5
St 3
S 10 25 heen . R
- <
o
]

15— U S

10 S -

0 [ 0 L
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
[diJet phil-phi2 (accepted)] Entries 365 [diJet2 eta-phi (accepted)] Entries 365
orToW-We
_ 30 , 9 _ 30
o bS]
.;C; (&)
o d
125 Loog— o R R
o =
e o
a "
.. >
Sopo[ W WENBRCER Wit e T o

15

10

o

0 1 1 1 1 i 1 11 1 I 1 1 11 1 i 1 1 1 1 i 1 1 1 1 I
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]




|diJet Et (accepted)|

Entries

10

:

— High Et jet
Low Et Jet

T]Mean

: |RMS

365
8.27
3.542

60

x: Et (GeV)

|diJet eta (accepted) |

Entries

60

50

40

Mean

RMS

365
9.075
3.938

— H|gh Etjet

30 --- Low Et jet

I : "'_—:=l
20 ’,'..'..'..'..'..".--,._.._..:......'..'.f ...... N

102

0 2 4 6 8 10

Entries

20

15

10

25_ """""" ST CTTTTTTTTTTTTIaATTmT et T

-
'''''''' Mk S e ks ik e

—High Et jet |

Low Et jet

ED Jetl-f 1>

Mean

. [RMS

365
14.94
8.86

o

5 10

15 20

25
x: iPhi ~sector

30

|di.]et delZeta (accepted)|

12 14

x: i Eta[-1,+2]

Entries

45
40
35
30
25

20F

[

151

10F

..............................................................

Mean
RMS

365
30.65
5.628

......................

......................

......................

i BT

30 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) | mnes o2
s - : —|Meany 30.65
10 R b

) r : :

S F : :

T S ST — SRTPR

(0] N

N

g

o

©

°

0 2 4 6 8

10 12 14
x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

Entries

x: iEta2 [-1,+2]

Fxlean X
eany

10 12 14

x: iEtal [-1,+2]

Entries

y: delta zeta (rad*10)

Mean x

365
14.9

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

|total Et diJet (accepted)]

365
9.075
8.226

Entries

25

20

15

10

365

21.8

:|Mean

..................................................................................
.................................................................................

Ili_l|l 11 i 1 1 I|_|

o

10 20 30 40 50 60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE) |

Entries

> 12

Jet2/Ge

10—

10

|diJet phil-phi2 (accepted_ EE) |

69

|d|Jet1 eta-phi (accepted EE)|

RTO\/\/ Fa':t

Entries

t Endcap

.............................

.............................

.............................

_ 30 I.:)IUVV. vve
S
8 L
20 0 -
T 25— L
—18 é—'__ -
—16 > ool
—14 -
—12 ] SRR ORI SO0 A AR S
—{10 -
—8 10:_ ......................................................
6 C
4 5__ ......................................................
2 : . .
O O_Illilllillilllilll
12 0 2 4 6 8
x: Jetl/GeV
Entries 69

30

N
¢

y: iPhi2 ~sector

20

15

10

0

5 10 15 20 25 30
x: iPhil ~sector

0.5

[diJet2 eta-phi (accepted_ EE)|

y: iPhi ~sector

30— BTOWLEasT

DTOvVV-vVve

10

12 14
x: iEta [-1,+2]

Entries

t Endcap

N
(&2}

20

15

10

O 1 1 1 i 11 1 i 1

0 2 4

6 8

10

12 14
X: iEta [-1,+2]

69

0.5

69
3

0.5



|diJet Et (accepted EE) |

Entries 69

10

T

....................................................................

.................................................................................

5.138
0.816

—|Mean

: [RMS

l— H|gh Etjet
Low Et Jet

50 60
x: Et (GeV)

|diJet eta (accepted EE) |

Entries

30

25

20

....................................................

.........................

Mean

0
x
o

69

12.99

1.15

- -

.............................

15

— High Et jet
--- Low Et jet

10

.....................................................

........

.......................

I
-!IIII

Y -

Entries 69
: Mean 14.01
: :[RMS  9.039

"""""""" T I‘—I i

—— H|gh Et jet
--- Low Et Jet

25 30
x: iPhi ~sector

12 14
x: i Eta[-1,+2]

Entries

N SRS S—

Mean
RMS

69

31.69
8.047

..............................

.............................

.............................

40

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EE)] Entries

y: delta zeta (rad*10)

60

50

40

30

20

10

Mean x

0

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

69
12.99
Meany 31.69

4.5

diJe

Entries

t eta2 vs. etal (accepted EE)] 69

14

12

x: iEta2 [-1,+2]

1N
O

ean x 12.99
BTQVV : Ends:a eany 12.89

[ee]

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EE) | Entries

y: delta zeta (rad*10)

Mean x
Mean y

69
14.31
31.69

.......................

1O

5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

25

15

0.5

|tota|

Et diJet (accepted_EE) | Entries 69

12

10

L e e e USRS SR :/Mean 17.01

0 10 20

ol

1 1 1 1 i 1 1 1 1
0 40 50 60
x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted_EB)|

Entries

> 12
)

Jet2/G

10

0 2 4 6 8 10 12
x: Jetl/GeV

|diJet phil-phi2 (accepted_EB)|

89

18

16

14

12

10

(

diJetl eta-phi
BTOW-East

y: iPhi ~sector

30

(ac

Entries

Endcap

15

10

................................................................

....................................

cepted_EB) est‘

o

2

4

6 8 10 12 14
x: iEta [-1,+2]

Entries

y: iPhi2 ~sector

30

N
¢

20

15

10

a1
IIII|IIII|

0 1 1 1 1 i 1 11 1 i

0 5 10 15 20 25 30
x: iPhil ~sector

89

4

3.5

2.5

1.5

0.5

|diJet2 eta-phi (accepted_EB)|

Entries

y: iPhi ~sector

est| Endcap

30

N
(&2}

20

15

10

BTOW-East

D TUVVEVV

o

2

4

6 8 10 12 14
X: iEta [-1,+2]

89

4

3.5

89

4

3.5



|diJet Et (accepted_EB)|

Entries

—|Mean

:|RMS

89
7.612
1.344

|diJet eta (accepted EB) |

vl o W vl S a R

20 30 40

|diJet phi

50 60
x: Et (GeV)

10

Entries 89

25 = e rrererrere e e rererrrer ~— Mean

20

11.29

1.699

RMS

SRR SRR SO IS RS RN S .
: : — High Et je ;
--- Low Et jet

—

.. e P —————a.
B : : : N
. []
L N
1 ..... [ A SN - R
. []
L P
L e
1 : : :
T AN AR e P N T B I

8

Entries

IIIIIIIIII

[ :
S SRR SEMIRRIPE 15

1] - Low Et jet

............ S S N— —|

—|Mean

89
13.94
8.485

...........

— High Et jet

L]
1
1
1
T
1
1
1
1
b
1
1
1
1
-

.- [1

ok

5

10 15 20

25
x: iPhi ~sector

iqes
30

10 12 14
x: i Eta[-1,+2]

Entries 89

. I R ——

31.17
6.035

Mean
RMS

xS,)

o ﬂ -----
O i 11 11 i 11 |_| 1 i 11
10 20

0

30

x: delta zeta (rad*10)



. Entries 89

|d|Jet delZeta vs. etal (accepted_EB)| oy 1199
— Meany 31.17
T 60 .

e]

g 35
8 50

(0]

N

8

3 40

i

30

20

10

0

0

2 4 6 8 10 12 14
x: iEtal [-1,+2]

Entries

15N
O

I e :

I R e e :

x: iEta2 [-1,+2]
T

Fxlean X
eany

0
|

2 4 6 8 10 12 14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EB) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

.......................

...............................................

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

89
15.44
31.17

0.5

30

11.29
10.74

89

Entries

ltotal Et diJet (accepted EB)|

10

89

21.13

:|Mean

20 30 40 50 60
x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted BB)| Entries 246

>
)

Jet2/G

12

10

0 2 4 6 8 10 12

x: Jetl/GeV

|diJet1 eta-phi (accepted BB)

30

y: iPhi ~sector

B 1OVW-E23

.........................

.........................

...........

D TUVVEVV

st

Endcap

Entries

........................

|diJet phil-phi2 (accepted BB)] Entries 246

y: iPhi2 ~sector

30

N
¢

20

15

10

7

0 5 10 15 20 25 30

x: iPhil ~sector

|diJet2 eta-phi (accepted_BB)

w
o

N
(&2}

y: iPhi ~sector

D TUVVEVV

12 14
x: iEta [-1,+2]

Entries

st| Endcap

12 14
X: iEta [-1,+2]

246

8

246

4

3.5



|diJet Et (accepted BB) |

Entries 246

— High Et je
--- Low Et jet

B S I o T e e Wl el Al Tt o Sl S

9.398

- Mean

3.726

: |RMS

30

18

16

14

12

40

50 60
x: Et (GeV)

|diJet eta

30

25

20

15

10

246
7.585
3.841

(accepted BB)| Entries
= ; ; : Mean
e e o e J
- —High Et jet
IS e --- Low Et jet _I— -----

A

0 2 4

6 8

10

Entries 246

N It
_|.[—High Et jet
--- Low Etjet |-

ETH GRE

ENJet2’ET

15.48
8.781

—|Mean
. [RMS

T

10 15

20

25 30

x: iPhi ~sector

|diJet delZeta (accepted BB)]

12 14
x: i Eta[-1,+2]

Entries

Mean
RMS

246
30.05

4.308

........................................

...................................................

I_II I_II i 1 1 1 il

0 10

20 30

40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted BB)] fﬂlz;ei a0 |diJet eta2 vs. etal (accepted BB)] g E’;‘;ff(' Lo
s F Meany  30.05 = [ BTOW En ?a eany  6.301
_)‘<_| 60_ + 14— R PO S SR
3 =L
N—r % L
% 50 @ N s s e
N - L
8 L
3 40
c
30
20
1| EERPRE I IS (N B W O e 2=
0 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 I
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZetavs. avrPhi (accepted_BB) | fﬂl‘;}ei 2‘1‘2 |tota| Et diJet (accepted_BB)| Entries 246
~—~ M — T T T T T T T T
S LAY 3005 24E ' IMean 2358
* T -
-‘Su 22:— """""""""""""""""""""""""""""""""""""""""""""""""
< 20:— """"""""""""""""""""""""""""""""""""""""""""
g : 18 e U
8 : -
= : 1= S I P S PTT SUPT PP PP
3 - o
> : I R & B e e R R R R R R
L R S S
T T
2 S ST
T O S
S 4:_ ...............................................................
2__ ................................. ARREEEEIEERS P
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O 1 1 1 i 1 1 1 1 i 1 1 1 I_I|I 1 1 i 1 1 I|_|
b 5 10 15 20 25 30 0 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

x: Et (GeV)



